# (FOR THE INFORMATION OF: DISTRICT SECRETARIES, TEACHERS, INTERESTED STUDENTS AND PARENTS)

#### WIDE BAY 10-12YRS + 13-19YRS SCHOOLS SWIMMING REGIONAL SELECTION PROCEDURES – 2024

In 2024, the procedure for the selection of the Wide Bay 10-12 Yrs and 13-19 Yrs Swimming Teams to participate at the respective State Championships are as follows:-

- Information will be sent to District Secretaries to distribute to Schools (who need to distribute to interested students)
- Parents to complete the Nomination Survey via the relevant Link and submit by Monday, 19<sup>th</sup> February - 2024.
- All nominated Times will be verified by Wide Bay School Sport through Meet Mobile or the Swimming Australia data base.
- Teams will be selected (10-12 Yrs and 13-19 Yrs) based on Nominations submitted and parents will be notified of details if students are selected.
- Selected students can e-mail <a href="wbssport@qed.qld.gov.au">wbssport@qed.qld.gov.au</a> with improved times swum after 19th February up until when Nominations for State Championships are due for consideration for extra events or upgraded times for seeding.

#### STATE CHAMPIONSHIPS:

<u>10-12yrs</u>: 26-28 March – Chandler, Brisbane. 13-19yrs: 23-25 March – Chandler, Brisbane

ELIGIBLE EVENTS BY AGE GROUP (Age Group calculated by year of birth eg 10 Yrs Born 2014) NB – Events are for Boys and Girls

Age Groups / 10-12 10 Yrs 11 Yrs 12 Yrs 14 Yrs 15 Yrs 16 Yrs 17-19 13-19 **Events** Yrs Yrs 50m Freestyle 1 50m Breastststroke V V V V V V 50m Backstroke V V V V V 1 50m Butterfly V 100m Freestyle V 100m Breastststroke V V V V 100m Backstroke 1 V V 1 V 100m Butterfly 200m Freestyle 200m Breastststroke V V 200m Backstroke V  $\sqrt{}$ V 200m Butterfly 200m Indiv. Medley V 400m Freestyle V V 400m Indiv. Medley V 800m Freestyle 1500m Freestyle

ELIGIBLE EVENTS BY AGE GROUP FOR MULTI-CLASS STUDENTS (Age Group calculated by year of birth eg 10 Yrs Born 2014) NB – Events are for Boys and Girls

Age Groups / Events	10-12 Yrs	13 -15 Yrs	16-19 Yrs	
50m Freestyle	1	1	1	
50m Breastststroke	<b>√</b>	<b>V</b>		
50m Backstroke	<b>√</b>	1	1	
50m Butterfly	√	V	1	
100m Freestyle	1	1	1	
100m Breastststroke	<b>V</b>	V	1	
100m Backstroke	√	1	1	
100m Butterfly	V	V	1	
200m Freestyle	1	V	1	
200m Indiv. Medley	V	V	V	

#### IMPORTANT:

- Nominations must be submitted using the relevant Survey Link by the Due Date (19/02/2024)
- Nominated times must be provided for Events students wish to be considered for selection
  - 10-12 Yrs & 13-19 Yrs Times must have been recorded at a QSA sanctioned meet in a 50m pool from January 2023 to the close of nominations on Monday 19 February 2024.
  - 13-19 Yrs Any 50m times swum at a District Carnival will be verified through District Secretaries.
  - Multi-Class students Best time swum in previous 12 months to be submitted.
- 3. ALL Nominations MUST indicate the Carnival details where the best time was swum.

There are no Regional Carnivals in 2024.

#### METHOD OF NOMINATION:

District Secretaries will send the Nomination Procedures (including Survey Links) to Schools. If a swimmer wishes to nominate for Regional Selection, the relevant Survey is to be completed and submitted by 19<sup>th</sup> February, 2024.

10-19 Yrs -

https://survey.qed.qld.gov.au/n/bDRh03w



Multi-Class 10-19 Yrs -

https://survey.ged.gld.gov.au/n/dLgh4QE



Swimmers should be close to attaining Qualifying times when nominating. (Use Attached Qualifying times as a guide)

Enquiries: Contact wbssport@ged.gld.gov.au - Ph. (07) 4122 0875

## 13-19yrs Wide Bay School Sport Swimming - Time Standards 2024

		13 years	14 years	15 years	16 years	17-19yrs			
50m	Freestyle	31.00	29.50	29.00	28.50	28.00			
50m	Breaststroke	39.50	37.00	36.00	35.50	35.50			
50m	Backstroke	36.50	34.00	33.00	32.50	32.00			
50m	Butterfly	33.50	32.00	31.00	30.00	29.00			
100m	Freestyle	1:07.00	1:05.00	1:03.00	1:00.00	59.50			
100m	Breaststroke	1:30.00	1:28.00	1:24.00	1:22.00	1:20.00			
100m	Backstroke	1:19.00	1:17.00	1:15.00	1:13.00	1:08.00			
100m	Butterfly	1:17.00	1:15.00	1:11.00	1:10.00	1:05.00			
200m	Freestyle	2:22.00	2:20.00	2:18.00	2:15.00	2:12.00			
200m	Breaststroke	3:07.00	3:05.00	3:00.00	2:56.00	2:53.00			
200m	Backstroke	2:45.00	2:40.00	2:35.00	2:31.00	2:26.00			
200m	Butterfly	2:45.00	2:42.00	2:36.00	2:30.00	2:25.00			
200m	Individual Medley	2:40.00	2:38.00	2:35.00	2:32.00	2:30.00			
400m	Freestyle	5:00.00	4:50.00	4:45.00	4:40.00	4:30.00			
400m	Individual Medley	5:50.00	5:45.00	5:35.00	5:30.00	5:20.00			
		13-19 Years							
800m	Freestyle	9:10.00							
		13-19 Years							
1500m	Freestyle	19:10.00							

		13 years	14 years	15 years	16 years	17-19yrs			
50m	Freestyle	32.00	31.00	30.50	30.00	29.50			
50m	Breaststroke	40.00	39.00	38.50	38.00	37.50			
50m	Backstroke	37.00	33.00	35.00	34.50	34.50			
50m	Butterfly	34.50	33.50	33.00	32.00	31.50			
100m	Freestyle	1:10.00	1:09.00	1:07.00	1:05.00	1:04.00			
100m	Breaststroke	1:31.00	1:30.00	1:29.00	1:28.00	1:26.00			
100m	Backstroke	1:22.00	1:20.00	1:18.00	1:17.00	1:15.00			
100m	Butterfly	1:19.00	1:18.00	1:16.00	1:14.00	1:13.00			
200m	Freestyle	2:29.00	2:26.00	2:24.00	2:22.00	2:20.00			
200m	Breaststroke	3:12.00	3:07.00	3:03.00	3:02.00	3:00.00			
200m	Backstroke	2:50.00	2:46.00	2:42.00	2:38.00	2:36.00			
200m	Butterfly	2:50.00	2:46.00	2:44.00	2:42.00	2:38.00			
200m	Individual Medley	2:48.00	2:45.00	2:40.00	2:38.00	2:38.00			
400m	Freestyle	5:10.00	5:00.00	4:50.00	4:45.00	4:45.00			
400m	Individual Medley	6:00.00	5:50.00	5:45.00	5:40.00	5:35.00			
				13-19 Years					
800m	Freestyle	9:40.00							
		13-19 Years							
1500m	Freestyle	19:20.00							

Please note that these are not the standards used to attend the Queensland School Sport 13-19yrs Swimming Championship – they are a WBSS Guide only.

## **Qualifying Times**

### Queensland School Sport Swimming 10-12 Years Boys' and Girls' Qualifying Times

THE REAL PROPERTY.			of 5 swimmers 100M 200M	Extra Swimmer Qualifying Times Tier 3		
Event	Age	Tier 1	Tier 2			
		Automatics 🗷	Boys and girls	Girls	Boys	
200m Individual Medley	10 yrs	2	3:28.00	3:18.00	3:18.00	
200m Individual Medley	11 yrs	2	3:15.00	3:04.00	3:01.00	
200m Individual Medley	12 yrs	2	3:01.00	2:53.00	2:51.00	
200m Freestyle	10-12	2	2:37.00	2:28.00	2:28.00	
200m Breaststroke	10-12	2	3:30.00 #	No extra swimmers	No extra swimmers	
200m Backstroke	10-12	2	2:55.00 #	No extra swimmers	No extra swimmers	
200m Butterfly	10-12	2	3:00.00#	No extra swimmers	No extra swimmers	
400m Individual Medley	10-12	\$2.50 miles (1995)	6:28.00 #	No extra swimmers	No extra swimmers	
400m Freestyle	10-12		5:20.00 #	No extra swimmers	No extra swimmers	
100m Freestyle	10 yrs	2	1:25.00	1:19.00	1:18.00	
100m Freestyle	11 yrs	2	1:20.00	1:11.00	1:11.00	
100m Freestyle	12 yrs	2	1:16.00	1:08.00	1:07.50	
100m Breaststroke	10 yrs	2	1:51.00	1:45.00	1:45.00	
100m Breaststroke	11 yrs	2	1:46.00	1:38.00	1:38.00	
100m Breaststroke	12 yrs	2	1:37.00	1:31.00	1:30.50	
100m Backstroke	10 yrs	2	1:36.00	1:32.00	1:31.00	
100m Backstroke	11 yrs	2	1:32.00	1:26.00	1:26.00	
100m Backstroke	12 yrs	2	1:28.00	1:20.00	1:20.00	
100m Butterfly	10 yrs	2	1:41.00	1:39.00	1:39.00	
100m Butterfly	11 yrs	2	1:34.00	1:27.00	1:27.00	
100m Butterfly	12 yrs	2	1:27.00	1:20.00	1:20.00	
50m Freestyle	10 yrs	2	39.50	35.00	34.50	
50m Freestyle	11 yrs	2	37.50	32.50	32.50	
50m Freestyle	12 yrs	2	35.00	31.00	30.50	
50m Breaststroke	10 yrs	2	51.00	47.50	47.50	
50m Breaststroke	11 yrs	2	48.00	44.00	44.00	
50m Breaststroke	12 yrs	2	44.50	41.00	41.00	
50m Backstroke	10 yrs	2	47.00	42.50	42.00	
50m Backstroke	11 yrs	2	44.50	38.50	38.00	
50m Backstroke	12 yrs	2	41.00	36.50	36.00	
50m Butterfly	10 yrs	2	45.50	41.00	39.75	
50m Butterfly	11 yrs	2	42.50	36.50	36.50	
50m Butterfly	12 yrs	2	39.50	34.00	33.50	

# Events are not eligible for selection to the Queensland team

## Diagrammatic representation of nomination process.

	Tier	Rule				
		TWO automatic nominations for 50m, 100m and 200m				
	1	(see rule 3.1.1.1.1 over)				
		Note: Regions should ensure that the swimmers selected under this rule still have a high level of skill and speed close to the qualifying time.				
Note: Read in	with 2	Strictly using the Qualifying Times:				
conjunction with the detailed rules over.		<ul> <li>50m, 100m and 200m may nominate a further 3 nominations making a maximum of 5 swimmers per event.</li> <li>400m events maximum 2 may be nominated</li> <li>All swimmers selected in this tier must all equal or be faster than the qualifying time. (see rule 3.1.1.1.2, 3.1.1.1.3, 3.1.1.1.4 over)</li> </ul>				
		Extra swimmer qualifying beyond tier 2				
	3	Must equal or be faster than the EXTRA qualifying time     (see rule 3.1.1.1.5 over)				

### Extract from QSS 10-12 Swimming Competition Procedures.

### 3.1 State Championships (Inter-regional Competition)

- 3.1.1.1 Each competing region may nominate the following:
  - 3.1.1.1.1 In all 50 metre,100m and 200m events, up to a maximum of 2 'automatic' nominations will be accepted.

**Note:** Regions should ensure that the swimmers selected under this rule still have a high level of skill and speed close to the qualifying time.

- 3.1.1.1.2 In all 50 metre, 100 metre and 200 metre events a further 3 nominations making a maximum of 5 swimmers per event who must all equal or be faster than the Qualifying Time.
- 3.1.1.1.3 In all 400 metre events, a maximum of 2 swimmer who must both equal or be faster than the Qualifying Time.
- 3.1.1.1.4 If the region uses paper nominations then the time must have been swum at a recognised Swimming Queensland or Swimming Australia event on or after 1 July, the previous year.
- 3.1.1.5 A region will be allowed to exceed the number of nominations in section 3.1.1.1.2 above provided that all competitors nominated for that event have swum a time which would have equalled or faster than the EXTRA qualifying time at their respective regional trials or if paper nominations are used then rule 3.1.1.1.4 must be followed.



## **Multi Class Qualifying Times**

### 10-12 years Multi Class

MULTI CLASS QUALIFYING TIMES (This document must be read in conjunction with the Competition Conditions)										
	50	100	200	50	100	50	100	50	100	200
MC	Free	Free	Free	Back	Back	Fly	Fly	Br	Br	IM
GIRLS										W
S1	02:28.00	04:51.00	10:55.00	02:26.00	05:09.00					
S2	02:27.00	04:52.00	10:21.00	02:22.00	05:22.00		RUBBER.	02:39.00	5:18.00	
S3	01:55.00	03:43.00	08:30.00	02:09.00	03:50.00	02:13.00	4:26.00	02:04.00	4:08.00	07.20.00
S4	01:33.00	03:00.00	06:48.00	01:54.00	03:19.00	02:08.00	4:16.00	02:01.00	4:02.00	07:15.00
S5	01:18.00	02:42.00	05:37.00	01:24.00	02:47.00	01:38.00	3:16.00	01:44.00	3:28.00	06:09.00
S6	01:19.00	02:26.00	05:05.00	01:41.00	02:40.00	01:34.00	3:08.00	01:48.00	3:36.00	05:32.00
S7	01:14.00	02:14.00	04:40.00	01:36.00	02:37.00	01:26.00	2:52.00	01:45.00	3:30.00	05:12.00
S8	01:10.00	02:06.00	04:05.00	01:31.00	02:27.00	01:24.00	2:45.00	01:34.00	3:08.00	04:40.00
S9	01:06.00	01:57.00	03:31.00	01:25.00	02:11.00	01:21.00	2:42.00	01:34.00	3:08.00	04:18.00
S10	01:05.00	01:59.00	04:02.00	01:22.00	02:17.00	01:20.00	2:40.00			05:10.00
S11	01:12.00	02:13.00	04:46.00	01:30.00	02:34.00	01:29.00	2:58.00	01:40.00	3:20.00	05:11.00
S12	01:05.00	01:56.00	04:00.00	01:24.00	02:13.00	01:17.00	2:34.00	01:28.00	2:56.00	04:22.00
S13	01:04.00	01:55.00	03:50.00	01:23.00	02:12.00	01:18.00	2:36.00	01:30.00	3:00.00	04:18.00
S14	01:07.00	02:02.00	04:15.00	01:22.00	02:17.00	01:19.00	2:38.00	01:30.00	3:00.00	04:35.00
S15	01:04.00	01:55.00	03:50.00	01:19.00	02:12.00	01:16.00	2:32.00	01:24.00	2:48.00	04:19.00
S16	01:07.00	02:02.00	04:10.00	01:32.00	02:17.00	01:24.00	2:48.00	01:35.00	3:10.00	04:35.00
S18	01:14.00	02:14.00	05:08.00	01:37.00	02:31.00	01:27.00	2:54.00	01:39.00	3:18.00	05:03.00
S19	01:07.00	02:02.00	04:15.00	01:22.00	02:17.00	01:19.00	2:38.00	01:30.00	3:00.00	04:35.00
BOYS										
S1	02:08.00	04:20.00	09:56.00	02:56.00	05:26.00					MANAGE ST
S2	02:03.00	03:53.00	09:23.00	02:21.00	04:14.00	ES COLEN		02:08.00	4:16.00	
S3	01:39.00	03:13.00	06:48.00	01:45.00	03:37.00	02:11.00	4:22.00	01:53.00	3:46.00	06:20.00
S4	01:16.00	02:30.00	05:58.00	01:42.00	02:56.00	01:44.00	3:28.00	01:49.00	3:38.00	06:15.00
S5	01:13.00	02:19.00	05:02.00	01:27.00	02:25.00	01:26.00	2:52.00	01:41.00	3:22.00	06:09.00
S6	01:08.00	02:05.00	04:13.00	01:28.00	02:19.00	01:19.00	2:38.00	01:34.00	3:08.00	05:32.00
S7	01:05.00	01:58.00	04:11.00	01:27.00	02:19.00	01:18.00	2:36.00	01:33.00	3:06.00	05:12.00
S8	01:03.00	01:52.00	03:43.00	01:20.00	02:10.00	01:14.00	2:28.00	01:24.00	2:48.00	04:40.00
S9	01:02.00	01:50.00	03:46.00	01:17.00	02:01.00	01:12.00	2:24.00	01:16.00	2:32.00	04:18.00
S10	00:59.00	01:44.00			02:00.00		2:18.00	Para Sala		05:10.00
S11	01:02.00	01:53.00	04:00.00	01:22.00	02:12.00	01:14.00	2:28.00	01:26.00	2:52.00	05:11.00
S12	00:58.00	01:44.00	03:38.00	01:15.00	01:59.00	01:11.00	2:22.00	01:23.00	2:46.00	04:22.00
S13	00:59.00	01:46.00	03:45.00	01:16.00	01:59.00	01:12.00	2:24.00	01:20.00	2:40.00	04:18.00
S14	01:01.00	01:49.00	03:55.00	01:18.00	02:05.00	01:12.00	2:24.00	01:18.00	2:36.00	04:35.00
S15	00:59.00	01:44.00	03:35.00	01:13.00	01:57.00	01:07.00	2:14.00	01:14.00	2:28.00	04:19.00
S16	01:01.00	01:49.00	04:50.00	01:24.00	02:05.00	01:18.00	2:36.00	01:25.00	2:50.00	04:35.00
S18	01:07.00	02:00.00	04:15.00	01:26.00	02:18.00	01:19.00	2:38.00	01:26.00	2:52.00	05:02.00
S19	01:01.00	01:49.00	03:55.00	01:18.00	02:05.00	01:12.00	2:24.00	01:18.00	2:36.00	04:35.00

### Nominations - Students with Disabilities

All students with a disability must have an official Sporting Wheelies, Deaf Sports or Lifestream classification. Please enter this as their classification.

All competitors must complete the classification forms for their disability area and have this classification ratified by the National Disability Sporting Body prior to competing.